






terminating if it has 



23. Given a square of 



Problems 

1. The first three perfect numbers given by the 



Compute the following square roots to two decimal places using the 
geometric explanation of Ptolemy's method given by Theon. 



17. Use 





a. Use the definition of the spiral to explain why the radius of the 
first circular 





Figure 2.68 

34. a. 



















Since 4 is between 3.162 and 5.623, continue by finding 
$3.162)(5.623) = 4.217 so that 

log 4.217 = log d(3.162X5.623) 

1 
= s l o g  3.162 + log 5.623) 





Problems 



Figure 5.16 

4. a. Given the equation y2 = -ay 











In the Konigsberg bridge problem (fig. 







a. Use the properties 





F S E A H ' F  H 

Figure 6.40 

E as center and EO as radius construct a circle, and let F and F' be 
the points of intersection of the circle and 



8. Show that a 90' angle can be trisected with a straightedge and com- 





a. As a crude first approximation to the graph, sketch the curve 



Figure 6.42 

25. 



28. In the decimal system fractions can be expressed using descending 
powers of 10. Thus, 1/3 = 3/10 + 3/100 + 




